Installation Instructions
YAMAHA LS2000 TONNEAU COVER

Parts & Accessories

TOOLS REQUIRED:

ITEM DESCRIPTION

O
_|
<

TAPE MEASURE

FINE TIP MARKER

CENTER PUNCH

DRILL

SCREW GUN

#2 PHILLIPS TIP

9/64” DRILL BIT

0N 0 AWN
e L i

5/32” DRILL BIT

PARTS LIST:

O
_|
<

ITEM DESCRIPTION

MOUNTING INSTRUCTIONS

CANVAS COVER

STORAGE BAG

BOW ASSEMBLY

NYLON STRAIGHT MOUNT

PHILLIPS OVAL SCREW

3/16” PULL PIN WITH LANYARD

N NP R RR e

0N OB WN -

3/8” SCREW STUD

NOTE:
* Please read and understand the instructions thoroughly before beginning installation.
« Make sure you have all the necessary parts and tools together before you begin.
« A second person will be helpful to mount the screw studs.

WARNING:
Make sure the boat is on firm, level ground and that it cannot roll.

ISLS2000TONNEAU/RO10OF5

3-3-03



TONNEAU COVER INSTALLED

CAUTION:

Before installing screws into a gel-coated surface, be sure to countersink the holes with
a Phillips bit installed in a screw gun. This will prevent the gel coat from chipping out.
In addition, use the center punch to mark the hole location before drilling any holes.

1. Align Straight Mount with center of boat just inside bow area. Place mount
1" back from front edge of bow area.

ATTACH LANYARD UNDER MOUNT
al

STRAIGHT MOUNT INSTALLATION

Page 2 of 5



2. Mark and drill top (Front) hole in mount with 5/32” drill bit and attach with
#10 X 34" Phillips Oval Head Screw.

3.  Drill rear hole and before attaching, place pull pin lanyard eye between
mount and fiberglass. Secure with remaining #10 X %" Phillips Oval Head
Screw.

4. Assemble Tonneau Cover Support Pole Assembly as shown in picture
and secure in position by inserting the pull pin through the holes in the
mount and eye end.

JAW SI IDF

N P kAl _' 2 =~ -3“‘:.&'
MAIN SUPPORT POI F | e @3‘.\ Sy
5 &g
SUPPORT POLE ASSEMBLY

NOTE:

The “U” shaped bow is factory installed in the cover. However, initially the main support pole
must be attached to the jaw slide by removing the bolt, inserting the nylon eye end into the jaw
slide and replacing bolt. It will store in the storage bag this way. Be sure to insert pole through
the loop in underside of cover before attaching to mount.

5. Drape the Canvas Cover over the Bows. Find and mark the center snap
of the boat for the front center 3/8” Screw Stud. This will be located 74"
from the inside edge of the bow area. Drill with 9/64” Drill Bit, countersink
hole and install a 3/8” Screw Stud. Snap center snap of Tonneau Cover to
stud.

Page 3 of 5



FRONT SCRFW SNAP INSTAI | ATION

6. Install the two screw snaps on either side of front center screw snap in the
same manner.

NOTE:

To mark the snap stud locations in the fiberglass, pull the tonneau cover into position and lightly
tap the front of the snap. This will leave a slight circle mark to indicate where to drill. You may
also mark with a pencil if desired.

7. Install the screw snaps on each rear corner of Tonneau Cover.

RFAR CORNFR SCRFW SNAP INSTAI | ATION

8. Continue around the cover installing the snaps in between.

Page 4 of 5



From inside the boat, install the remaining three screw snaps on each side
of the consoles. The location for these studs is approximately 1" below

recess for windshields. The edge of the cover should be below the plastic
windshields so that the cover does not restrict access to the storage trays.

1" SPACING

CONSOLE SCREW SNAP INSTALLATION

NOTE:

See Sunbrella label for care and cleaning instructions.

Page 5 of 5



	ISLS2000TONNEAU1OF5
	ISLS2000TONNEAU2OF5
	ISLS2000TONNEAU3OF5
	ISLS2000TONNEAU4OF5
	ISLS2000TONNEAU5OF5

